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I1
I

If 1 + 16+3 < S@) < * - 5r - 2, for all r, then lia s(z) :

Bl -t\4- | n.oz. -T.heorc 
v,,.

l,- (r+/x+i) = r+G =l+:x-)6

1,",, (xz- 5x-2) . 36 -ao -2
xi(

5o lr,n $ Ct) = \xi6

(")

(b)

(.)

(d)

(e)

4

does not exist

.)

5

6

2. ,\g (2 cos(3r)) :

(.) does not exist

(b) 0

(") oo

(d) 2

(") -2

Srar- 8 ft '1 Gs (s4

+t ,r +L lr''L <loes

[MrsrER I

]=

63c1lta)<: rl raf tn,I'1

noi sxtsf

-q

=1

1,V}v
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3. If / and g are continuous functions such that g(2) - 4 and
tgq[s/(r) -zf (x)s(x)):20, then,f(2): I [ 3 u* (ontrnqlvn

3.8121 -zl?t3..1 =zo 
" 

:, l'.-tr*l =frt;/)z(') -4 3?(")-zltz1.1 :?o ('orE)

(b) -b 
) '' ' 

- D',-^' 2^ k ln Jh1 =S(tl
(c) -3 - 5 I (21 =zo ' x')z -

(d) -2 P (') = -q

(") -1
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{7 -{"r J r-t-' t,i t-tt'
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-1
-2
2

0

1

,

1,,
4{.,

1,,
{-e 6

tL

(l-t?)

\ 
',,nb-16

- (tttt)

@trrl
-rt
.f ( fi=- +{-r+t' )

_2
.-...-- l1-t

= -l
l,-
L-?o {,f + 'ir{;

.r, ? ZS
,/T=e _ \nTP

4 . llll.r 
-_----=- 

:,-+0 tz

(u)

(b)

(.)

(d)

(u)
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(t -.-r) (x+3)-." l_:l

,- e.r"1trl_f
g-=]-/ 

a.

5. lim
c-+-3- lz+31 - &+z)

l - fx-q)
llYl^

v-2 -j
= - (-s-q) -*+

(u)

(b)

(.)

(d)

(u)

-7
4

-3
3

r-4
lim

x-+-2- r(r + 2)

-C
o

Ch zck

z-\
aA+L)

4 -z:

- (- )

+h-c- SrSn

r"lt"la}

=-oi)

,

"1

(u)

(b)

(.)
(d)

(")

-@

@

0

-2
2

\,- _\-r-z

?-q
.Ar-+L,l

a-Y

= -o0

OR \

x --) -2

-e
-,_a-?7+z

TMASTER I
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,u *?P 7. Which one of the following statements is TRUE about

g,s- 4- 12

Page 4 of 9 fMrsrER I

2-r
1

lr- ?t,.t
r-) L

= 1,^
,4r

- l"^xlz

i(r): 
{

if n+2
if x -2

q-*
L-).

(z+x) = \ qstc

+ +b).1

(u)

(b)

(c)

(d)

(el

/ has a removable discontinuity at r : 2

/ has a jump discontinuity at z - 2

/has an infinite discontinuity atx :2
/ is continuous at x : 2

/is not defined atx:2

s" $ h- q {ero cJau-p-
16rr*rl

dr5e"n!*1 ^I ^ 
a7'

7-1 -2

-6,I-"-2 
u'*

7>?- -€-z

[a]

lim,-i-
l4+ Z=-6t

Srncr , 1- --> i --'
y,*t: '

- l,- +

"-> 
-7

_L
=+

-lbn

l,* Ii-6x1
Y-+l'F

3

,u *57r 51 ,

[-6"n: ([.] greatest integer function)

(u) -1
@t -2
(.) does not exist

(d) 2

(") 3
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Where is the function /(z) :

[1,3) u (3, oo)

[1,-)
(0,1) u (r, m)
(-oo,0) u (0, 1l

(-*,0) u (0, 1l u [1,3) u (3, oo).

continuous?

fx -r +) X't)za ax>'l

*t - ar' +u - xL {x-21 * ct"""*"

==.) 
Xfc, x*9

I

Lrr 3)

J"-T
#-3*

(u)

(b)

tcl
(d)

(") (5/d)

I arz+b if x<2/("):i 2bx*a- J if x>2

is continuous at r :2, then b - a : lr, f,rrl exrst)

| ''s Conlrnuua J ":' x'L

9] --> ,\i- 9'' =]5r'Fk) . ^. z\ G'BEr,

(b) -1
(") , .::r,.,'- , af+b) = )5r. 

(zbx +u-s)

(d) 2 x)z 
r -Ab+q-3(") -5 =) 4 a' +o

\ ')-

3a-3b : - J

. - -l
,_i\ 

q -b

-' \^-ot:l
-) 

t)

t'rs
€ 2's



-1 
"ln 1rt. tio, t*-'(j)

' I -r-d)+ \c/P.tbt \

Ch z Rwr'co I

--...-.-2 (u) -L2
1t(b) ;

i.; '-*
(d) oo

(") o

(u)

(b)

(")

(d)

(")
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L"t z= -+
r1f * 

-> 
ot .,'*},.,..

IMASTER l

e -> -"4

Let f (r): 10 - 7x ar.d !gi/(z) - tr' Then the largest number d such

that "If 0 < l, - 2l < d, then l/(") - ,Ll < 0.1" is

L =-'t
I Pm-Ll < e; -t e> I r,:-lr -Gqtl 

a6't,---.,

€> I tq-1xl <o'l
e\ -? | z-:c1 < o'1

&) ll-xl'^"4
/-) lt-rt < f

t"r'(=)

(,r-r e m+1 -t r.. 6 = * 
( or a"9 S*'^\ a-' wlr'a)

-) Ji.r (ai.;I va\'^c 'l S i) +

Z ) -ol)
=-EZ

-1d:-
70

-1

-1d:-
80

-1d:-
40

_tn:-
10

='\-9
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\ y6 (a-lns

; (!'-)
tr'l trq- i'
* 1r+ i,)

-;t,,=

IMASTER l

13. ,r^ {94
ri-oo XJ + 2 - l,^

)a-J - olJ

- l'"''
k--) -,

= l'^Y4-,.l

-= 1,,,n

Ya -*

(r)

(b)

(")

(d)

(")

(u)

(b)

(c)

(d)

(")

-2
2

1

-@
1

2

l+o

-l \ r,nrl

F" -')

T

t4. Which one of the following statements is TRUE?

If liq /(a) : 0, then there is a number d such that if
o ilil < dthenl/(r)l< 0.28 -pf,:i"-r1:l|'^
If lia /(z) : 0, then f (0) : 0

If /(0) :0, then |'g /(") : o

If /(0) is undefined, then lir4 /(r) does not exist

If lirq /(r) exists, then /(0) is defined.
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7
?

?

b)( td) s/ Ce ttfi
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15. Which one of the following statements is TRUE about the
4r2 + 5x 1 (k+S) 4xt-S

CUf\€ U : -:----:- =: =--:--------:- I X*O" 2t2 *x x (?x+t) zx+l
(V.A. : Vertical a.s)rmptote, H.A.: Horizontal asymptote)

I'I r,^
>) rl

Term 212, Math 101, Major Exam 1 Page 8 of 9

(u) It has g:2as aH.A. andz: -] as aV.A.

(b) It has r : 0andr : -1a"V.,t.2

(.) It has 9 : 4 as aH.A.
(d) It has no V.A.
(.) It has no H.A.

{x+s - I :zZ'r+ | ' 2

),*,, !d;'! .'
h.A,,J.2

, 2x]:l.'o ':)X.').

1 4x+ J 
= o0lr^., -;;,

x-)-f,L

VA. ' x'-!

16. The slope of the tangent line to the curve I : E+ at the point (1,1)r*3
is equal to

(u)

(b)

(.)

(d)

(")

1

,
2

3

1

5
1

' f (r) -tr')
- =Jg , --;:-

- 3X+l I
l. r+3
,-rt x_t

'x+a):rc!!:,-..---
= 1,. x+3

xJt x-t

r 0x-2
: ll,-

Y-5r (x+\) (x-t)

1 a fx-t)
= IIr (x+a; (r-r1

rZ2-
= \t'r. 

-= 
'- 

-R3'.x+ \ 7+j
z =!q\

-SE
E z'z
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Which of the following conditions will guarantee that there is a root of
the equation

4f - 6r.2 * ar-t b:0

between -l and 1?

-D
,"(u) a : -6, b:6 '

(b) a:-1,b:1----._,

i -L
* rr), ti x - 6x ' 6x+G ")i 

9{. rX"

r'
* (tl

f tr) , '17\-t"*"- r

? (-,) " -."' -: -: =- l')'r'ugt,t. Ll -t,-r- -
1 :.lnu! J\'l71

(") a:0,b-1.---.-
(d) a:-5,b:8
(") a:0, b: -l

x
q+3q+q-rl - 

4or-\

--'=-;- 
c)

f,- elct

) g"'' J,'
and 7 1_j-q ')

lt 5,, +L 
):_., = <, )2 o,:l

h or''"e q (

If a and .L are real numbers

12-ar*a-13
lim

o-+-3

then .L :
12+x-6

(u)

(b)

7
(

6

+
)

(")

(d)

(")

*2-x - lz
r" )l-= +,;;-"

1r13; ( t -\'\
:)': "-e;6;. y-Y
: \rtnl -; -;-

Y-)'3

-j-Lr
-j -1-

-)-
- -\13

-6
1

0


